
DEUTSCH – ENGLISH   
 

 
JAY PARTS GmbH   +43 (0)7227 50 6 94 JP0003 
AUSTRIA  technik@jay-parts.com  www.jay-parts.com 
  
   Seite 1/2 

DEUTSCH 

LENKSÄULENVERSTÄRKUNG CAN AM DPS 

Die Lenksäule ist ohne Kraftaufwand 

einzuschieben, danach ausrichten und 

verschrauben. 

Der Durchmesser ist für den Innendurchmesser 

der DPS (Servolenkung) Lenksäule mit 28mm 

konstruiert. 

Die Zentralschraube der Platte ist schon mit 

blauen Loctite eingeklebt. 

 

SCHRAUBENZUORDNUNG: 

Lenker 22 mm (Standard Outlander / Renegade 

Stahllenker) 

 Serienposition 

Schrauben in den Serien Löchern 4 x M8x70 inkl. 4 

Beilagen und 4 Muttern 

Die weiteren Teile werden nicht verwendet! 

 Frontmontage 22mm 

4 x M8x70 inkl. 4 Beilagen und 4 Muttern 

2 x M8 x 30 Linsenkopf inkl. 2 Beilagen und 2 Muttern 

Die weiteren Teile werden nicht verwendet! 

 

LENKER 28 mm (XXC,XT und XMR Modelle mit Aluminiumlenker)  

 Serienposition 

2 x M8x40 Schrauben inkl. 2 Beilagen und 2 Muttern in den Frontlöchern ersetzen die originalen Schrauben  

2 x M8x70 inkl. 2 Beilagen und 2 Muttern für hinten ersetzen die originalen Schrauben 

2 x M8x30 Linsenkopf inkl. 2 Beilagen und 2 Muttern 

Die weiteren Teile werden nicht verwendet! 

 Frontmontage 28 mm 

2 x M8x30 Linsenkopf inkl. 2 Beilagen und 2 Muttern hinten 

2 x M8x70 inkl. 2 Beilagen und 2 Muttern für die Mitte ersetzen die originalen Schrauben  

2 x M8x40 Schrauben inkl. 2 Beilagen und 2 Muttern in den Frontlöchern ersetzen die originalen Schrauben  

 



DEUTSCH – ENGLISH   
 

 
JAY PARTS GmbH   +43 (0)7227 50 6 94 JP0003 
AUSTRIA  technik@jay-parts.com  www.jay-parts.com 
  
   Seite 2/2 

ENGLISH 

STEERING STEM REINFORCED – HEAVY DUTY CAN AM DPS 

The steering stem can be pushed in without 

effort, then aligned and screwed. The diameter is 

designed for the inner diameter of the DPS 

(power steering) steering stem with 28mm.  

The central screw oft he plat is already glued in 

with blue Loctite.  

SCREW ASSIGNMENT: 

Handlebar 22 mm (standard Outlander / 

Renegade steel handlebar) 

 Series position 

Screws in the series holes 4 x M8x70 incl. 4 

washers and 4 nuts 

The other parts are not used! 

 22mm front mounting 

4 x M8x70 inkl. 4 washers and  4 nuts 

2 x M8 x 30 lens head screws incl. 2 washers and 2 

nuts 

The other parts are not used! 

 

HANDLEBAR 28 mm (XXC,XT and XMR models with aluminum handlebar)  

 Series position 

2 x M8x40 screwas incl. 2 washers and 2 nuts in the front holes replace the original screws 

2 x M8x70 screws incl 2 washers and 2 nuts in the back holes replaces the original screws 

2 x M8x30 lens head screwas incl. 2 washers and 2 nuts 

The other parts are not used! 

 28 mm front mounting 

2 x M8x30 lens head screwas incl. 2 wahsers and 2 nuts backside 

2 x M8x70 screws incl. 2 washers and 2 ntus for the middle replaces the original screws 

2 x M8x40 screws incl. 2 washers and 2 nuts in the front holes replacres the original screws 


